Practice Quiz Name PQ/V{]‘

Solutions

1. Determine the molality of 71.5 g Ilnoielc acid, CigHa202, in 525 g of hexane, CgH122

280.5 gjmol  (Farty acid)
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2. Astudent wants to make a 0.150 M agqueous solution of silver nitrate using all of the silver nitrate in the
bottle (11.27 g). What volume of solution can be prepared from this quantity of silver nitrate, AGQNO32

nm AgNO3 = 169,88 g/mo) 1, ?_7ja["‘°\ = 0.06b3m2! 0,150 = O:06b3 45 442

6% ggj L—- Sofn
3. What mass of urea, NH2CONHz, must be dissolved in 2250 mL of water (d= 1.00 g/mL) to prepare a

1.50 molal solution2
= I ureac
1.50m % Z.250K Hp © =, . 375m0
J 2. 376 mo) X 60:OTg)mp) = 2035 ureen
4. A saline solution is 0.90% (w/w) NaCl. What masses of NaCl and water would be required to prepare

Y"—" Yo' 50.0 L of this saline solution. Assume that the density of wateris 1.000 g/mL and that the NaCl does not
4 o add to the volume of the solution.

0.0090 =
k/ Mmass Yo = 0.90 % = mmass Nacl x LO0% X+ 5@ 00% n,0
50.0L solnz 50.0L py0 neiss NaCl & azshz O K=0.454K9 5 4504 pyCl

5. The density of ethyl acetate at 20.00C is 0.902 g/mL. What vélume of ethyl acetate at . - pS§e dem! by
20.0°C would be required to prepare a 2.0% by mass solution of cellulose nitrate using 25 g of gellulose

nifrate? (This is not an aqueous solution.) _ 25 % =12 2@ = 4ang-
Vvate ooy . 0027 =2 4L
21070 —  mMQasg cellvlose nitva X100 254X o LJ5
Mas5 celllose mikeate + mass eyl aeetate .
6. Whatis the mass of sulfuric acid contained in 60.00 mL of 5.85 M solution? 3-C \O Cu,Cn
5,85 = moles 30 moles ) 5, = 0,351 moles 3

' <0 ethyl ace et
0,0e000 - 0,35 moley A 98, 053/ J° 3'11“—}3_‘%4
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7. What is the mole fraction of water in a 8.2 molal agueous solution of sodium chloride? XH 20° 574 0
5.7 = moles NaCl  agoume )Lj HD &, Z2eroles NaCl §.213547
° T/_b 10004 14,0 A lmoy 55 49 moler, HyD
) H=20 g Rar 13 923

8. How much water would you have to add to 2.40 kg of nickel {ll) sulfate hexahydrate in order to
prepare a 25.00 % by mass aqueous solution? N ; SOq- H, O , 19,
75,007, - Mas PbaGh® xi0% o5 . 2.42 X= 120KgHz
mass Ni30y. @20 + més5H2D Z.yot+-X
9. An aqueous sulfuric acid solution containing 571.6 g of sulfuric acid per liter of solution has a density
of 1.329 g/mL. Find the mass percentage, the mole fraction, the molality and the molarity of this

solutione P\NS: mass 7 = 93.017 mo\a‘l‘lr\/ - 76?3@
Oe Xny500 = 0,1219 mgam.\ty = D.927N\

. 10. Perylene (CxoH12) is a constituent of coal tar. How many grams of perylene must be dissolved in 64.9 g
OO of chloroform (CHCls) in order to lower the freezing point by 2.75 degrees? Kf for chloroform is

4.68°C/molal. ’? 5= Kfp = 48 m msz 0.58Thbm = ™oles CzoHve

l(j CHC\3:0,OL,(,7
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